3<|x <69 HAE WEol= e
-6, =5, —4, —3,3, 4,5, 6022
8 7Ho|ct.




x7b-1<x <190 AFola, y7F3 <y <6 A o, xO & &

A 2 gty ol 7k % A1 AL gl

2.

e Fotolet,

ke

ul

x=-1,0,y=4, 5 60|22 044 =4 0|t}




xE-1<x<19 A-L o, x2S HFE

>
> He: 34

sholat

x= -1, 0, 1°|2& 37jjo|t},




4.

o o
o AW 5 &4 g2 AS BF IE A2

® 031 Aboleli fE47t RIS gk




ol
S
ol
o8

ol
Kfo
wmo

oln

ojn
N

J_.NO

oy

Rl
oo
5 Ak
s W
g OF
oA
RO
o} <k
R =
RO
~ T
o T
HOT
WK
U

|

bl




® 2o 44, 0, ¥ 242 FEo] 4t s,
@ fe4E BRI o] opd B4 B Uehd 4 gl
® A%t feEsoltt

@ -5 &t +3 Atolol=
227} Qlth,

-4,-3,-2,-1,0,1,29 77










=)
flo
>
rir

D

/N

_l) — 15 |4 [ ] ote] o

D_
12

R @ 2

5
®6 ®E 12

7
D_15—E
18 7
T 12 12

11




